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Before answering the que&s&\\s), candidates should ensure that they
have been supplied the tand complete question paper. No
complaint in this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulisory. All

gueshions carry equal marks.
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1. Answer the following, 2x8=18

Pr=ferfaa & Sax dfe -

(i) What is By Prnd_u(‘t ?
39-Ieas 4 8 ?

(1) Normal wastage
qH-Y &g

(iii) Escalation clause
ghe ard

(1v) Twe objectives of job costing
ITHEY AE@HT B P §F I

(v) Performance Based Budgeting
Feares amafa awres

(vi) Two limitations of standard costing
SHq AP A & el

(vii) P/V ratio (Profit Volume Ratio)

(viii)Margin of safety
gen # d@m
UNIT -1
-

2. Explain in detail with the help of example treatment of
abnormal wastage, abnormal gain and normal wastage
In process account. ' 16
HHIIA 84, #qa-g ard o 9w %9 #®) 9 afea a3
d 7 Rardm e dfta qeaEa
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3. A manufacturer produces certain goods through three j T
s oo oot Do rn | e | st

processes. Profit is not included in the process transfer —
but goods in godown are sold at cost plus 20% profit. fage i T 5l Ll i
In each process 5% of weight put in is lost and 20% is AR 1000 10,000 | 5500 15,000 200 2,000

scrapped which from process B and A realizes Rs. 20
. Iﬁ!gfl 4,000 2,000 6,000

per ton and from process C Rs. 5 per ton. The details of
production of three process are given below : 16 g 6,000 3,000 2,000]

Process A Process B Process C st fafa 60% 80%
o W T
Particulars |Ton T Ten, T | Ton T
y l QO oo 2 mem & 40% 20% 100%
teri 1, 10, 15,
ateria 000 [l'.}(%f\ L00 oI T
W ‘@&il L0000 6,000
2 - £ s @ ol A aw AR
Expenses 0" 6,000 3,000 2,000
UNIT -1l
Passed to 60% BO%

next process Sl
Carried to 40% 20% 100%

Godown

4. What is Contract Costing ? Explain its features.

Prepare Process Account and Gedown Account. 3 e R Fr ¥ 7 gon Raward qargw
s friee o ww A9 sfemell & T ¥ fafadt &
gfermr & aW FE e J 8, afeT e ® A JF| 9@
20% @ & a9 o & 9% Ry % 3@ g a9w & 5%
IFaE @ ara & ol 20% = @ s ¥ R oo Rfw &
MMagrwMMeaRmadR_rgazsaiaa g
aga g & A RAfrt 3 Iwrea & e Freeifea

5. Explain the following :
=t # srear Hif
(a) Escalation clause

gl sfvas
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(b) Job Costing (c) Fixed Budget

ST arr Ry T
() Retention Money {d) Responsibility Accounting
M= afd e S
(d) Work Certified
T & UNIT - IV
- IV
UNIT -1l ®
\Q 8. What is Absorption Costing ? Explain its advantages.
e - M r}
& . < 16
6. What is Eounzlgeti.rq.5$QK What are the essentials of
AFITOT AT 7 W] | EAY
effective hudgeﬁn&%'stem ? 16 o 7 @ 7 369 ® A I
e F ¥ ? OF G99 T B MAVEE O A 9. Fixed Cost Rs. 1,60,000 18
% ? hitps:/iwww.mdustudy com
ot AT
7. Explain the following : 16 Variable Cost 60% of sale
=t 2 e HT qRadadha area Rt & 60%
(a) Standard Costing Calculate :
g arra fafl T I
(b) Material Cost Variance (i) P/V ratio
qrlt @rE REE HqST @ ST
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(i) B.E.P.
ez g

(iii) Sales required to eamn 2 profit of ¥ 20,000
¥20,000 a9 F91 3 R e

(iv) Profit at an estimated sale of ¥ 4,40:080
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